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import pandas as pd

from sklearn.model selection import train test split

import numpy as np

dat = pd.read csv("train.csv")
dat

Passengerld Survived Pclass Name Sex

Braund,

0 1 0 3 Mr. Owen male

Harris

Cumings,
Mrs. John
Bradley
(Florence
Briggs
Th...

Heikkinen,

2 3 1 3 Miss. female

Laina

Futrelle,
Mrs.
Jacques
Heath
(Lily May
Peel)

Allen, Mr.

4 5 0 3 William male

Henry

Montvila,

886 887 0 2 Rev. male

Juozas

female

female

Age SibSp Parch

22.0 1 0
38.0 1 0
26.0 0 0
35.0 1 0
35.0 0 0
27.0 0 0

Ticket

A/5 21171

PC 17599

STON/O2.
3101282

113803

373450

211536

Far

7.250!

71.283:

7.9251

53.100!

8.050!

13.0001



Passengerld Survived Pclass

887 888
888 889
889 890
890 891

891 rows x 12 columns

# ZZ (or feature)d 2rol

dat.columns

Index([ 'PassengerId’,
'Parch’,
dtype='object')

dat.info()

<class
RangeIndex:

'Ticket',

'Survived',
'Fare',

Name Sex Age SibSp Parch
Graham,

Miss.
Margaret

Edith

female 19.0 0 0

Johnston,
Miss.
Catherine
Helen
"Carrie"

female NaN 1 2

Behr, Mr.
Karl
Howell

male 26.0 0 0

Dooley,
Mr.
Patrick

male 32.0 0 0

'Name', 'Sex',
'Embarked’'],

'Pclass’,
'Cabin',

'pandas.core.frame.DataFrame'>
891 entries,
Data columns (total 12 columns):

0 to 890

# Column Non-Null Count Dtype
0 PassengerId 891 non-null int64
1 Survived 891 non-null int64
2 Pclass 891 non-null int64
3 Name 891 non-null object
4 Sex 891 non-null object
5 Age 714 non-null float64
6 SibSp 891 non-null int64
7 Parch 891 non-null int64
8 Ticket 891 non-null object
9 Fare 891 non-null float64
10 Cabin 204 non-null object
11 Embarked 889 non-null object

dtypes: float64(2), int64(5), object(5)

memory usage:

HIO[E ME H L7

o test size : E|AE H|O|E] All H|E MEH

O HHO
S HHO

e random_state : CIO|E{S &2

]
|

= dat[ ['Pclass' ,
= dat[ 'Survived']

=
|

908 : st&E&, 10%

El N

83.7+ KB

'SibSp']

: HAEE

_train, X test, y train, y test =

o, X|HE HEoz Me

—

train test split(X, vy,

lAge'

Ticket Far
112053 30.000!

W./C.

6607 23.4501
111369 30.000!
370376 7.750
'SibSp',

test size=0.1,



random_state=0)

X train.shape, X test.shape, y train.shape, y_test.shape

((801, 2), (90, 2), (8

from sklearn.neighbors import KNeighborsClassifier
model = KNeighborsClassifier(n_neighbors=2)

01,), (90,))

model.fit(X train, y_train)

### OIZAIZ]7]

pred = model.predict (X test)

(pred == y test).sum(

0.6

print ("HAE MES| H: : {:

HAE MES HetT: : 0.60

) / len(pred)

25X X2 H 2f0]= 2l=2T

dat.info()

<class 'pandas.core.fr
RangeIndex: 891 entrie
Data columns (total 13

# Column Non-
0 PassengerId 891
1 Survived 891
2 Pclass 891
3 Name 891
4 Sex 891
5 Age 891
6 SibSp 891
7 Parch 891
8 Ticket 891
9 Fare 891
10 Cabin 204
11 Embarked 889
12 Sex_ num 891

dtypes: float64(2), in
memory usage: 90.6+ KB

dat.head()

Passengerld Survived

0 1 0
1 2 1
2 3 1

ame.DataFrame'>
s, 0 to 890
columns):

Null Count Dtype
non-null int64
non-null int64
non-null int64
non-null object
non-null object
non-null float64
non-null inté64
non-null inté64
non-null object
non-null float64
non-null object
non-null object
non-null int64

t64(6), object(5)

Pclass Name Sex

Braund,
3 Mr. Owen male
Harris

Cumings,
Mrs. John
Bradley
(Florence
Briggs
Th...

female

Heikkinen,
3 Miss. female
Laina

.2f}" .format (np.mean(pred == y test)))

Age SibSp Parch Ticket

22.0

38.0

26.0

1 0 A/521171
1 0 PC17599

STON/O2.
0 0 3101282

Fare

7.2500

71.2833

7.9250



Passengerld Survived Pclass Name Sex Age SibSp Parch Ticket Fare

Futrelle,
Mrs.
Jacques
Heath
(Lily May
Peel)

female 35.0 1 0 113803 53.1000

Allen, Mr.
4 5 0 3 William male 35.0 0 0 373450 8.0500
Henry

map&

e [Series].map (&4 = HAZL) : SeriesE YO 2 {st= & XM E L= 42 A
e ZtOZ dict, SeriesE A Z BiC},

e https://pandas.pydata.org/docs/reference/api/pandas.Series.map.html

mapping = { "male":1, 'female':2 }
dat[ 'Sex num'] = dat['Sex'].map(mapping)
dat.head()

Passengerld Survived Pclass Name Sex Age SibSp Parch Ticket Fare

Braund,
0 1 0 3 Mr. Owen male 22.0 1
Harris

o

A/5 21171 7.2500

Cumings,
Mrs. John
Bradley
(Florence
Briggs
Th...

female 38.0 1 0 PC17599 71.2833

Heikkinen,
2 3 1 3 Miss. female 26.0 0
Laina

STON/O2.
3101282

o

7.9250

Futrelle,
Mrs.
Jacques
Heath
(Lily May
Peel)

female 35.0 1 0 113803 53.1000

Allen, Mr.
4q 5 0 3 William male 35.0 0 0 373450 8.0500
Henry

# [].fillna( ) : ZBZU=E M2C).

val mean = dat['Age'].mean()

dat[ 'Age'] = dat['Age'].fillna( val _mean )
dat.info()

<class 'pandas.core.frame.DataFrame'>
RangeIndex: 891 entries, 0 to 890

Data columns (total 13 columns):

# Column Non-Null Count Dtype


https://pandas.pydata.org/docs/reference/api/pandas.Series.map.html

0 PassengerId 891 non-null int64
1 Survived 891 non-null int64
2 Pclass 891 non-null int64
3 Name 891 non-null object
4 Sex 891 non-null object
5 Age 891 non-null float64
6 SibSp 891 non-null int64
7 Parch 891 non-null int64
8 Ticket 891 non-null object
9 Fare 891 non-null float64
10 Cabin 204 non-null object
11 Embarked 889 non-null object
12 Sex num 891 non-null int64

dtypes: float64(2), int64(6), object(5)
memory usage: 90.6+ KB

of5, EHIAE H|O[E] M Lt57|

X = dat[ ['Pclass' , 'SibSp', 'Sex num', 'Age'] ]

y = dat[ 'Survived']

# 90% : g5&, 10% : HAEE

X train, X test, y train, y test = train test split(X, y,

test _size=0.1,
random_state=0)

X train.shape, X test.shape, y train.shape, y_ test.shape

((801, 4), (90, 4), (801,), (90,))

from sklearn.neighbors import KNeighborsClassifier
model KNeighborsClassifier(n_neighbors=2)
model.fit(X train, y_ train)

### OIFAIZ)7]

pred = model.predict (X test)

print ("HIAE MES| HEE : {:.2f}".format(np.mean(pred == y test)))
BHIAE MES| F&E : 0.76
k210l [HE et skl

tr _acc = []

test _acc = []

k_nums = range(l, 22, 2)# 1,3,5~21

for n in k nums:
# oY Mo
model KNeighborsClassifier (n neighbors=n)
model.fit(X train, y train)

SEA
2=

# Zek Fop|
acc_tr model.score(X train, y_ train)
acc_test model.score(X test, y test)

# FE gt HE.
tr acc.append(acc_tr)
test acc.append(acc_test)

print("k : ", n)

k: 1
sha24 HeE 0.885



import seaborn as sns
print(sns.__version_ )

0.11.0

# tr _acc = []
# test_acc =

[1

dat = { "tr_acc":tr_acc,
data_df = pd.DataFrame(dat,

data_df

tr.acc test_acc
1 0.885144 0.755556

0.862672 0.800000

a W

0.850187 0.800000
7 0.838951 0.733333
9 0.830212 0.722222

11 0.826467 0.744444

13 0.823970 0.755556

15 0.815231 0.744444

17 0.805243 0.755556

19 0.7915M 0.7111M

21 0.790262 0.722222

"test _acc":test_acc }
index=range(1,

import matplotlib.pyplot as plt



sns.lineplot(data=data_df, palette="tabl0")
plt.show()
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e map HIAE : https://pandas.pydata.org/docs/reference/api/pandas.Series.map.html


https://pandas.pydata.org/docs/reference/api/pandas.Series.map.html

